2.- SERIE: LOGARITMOS Y EXPONENCIALES

1 Express in logarithmic notation

a =32 b 10° = 100 ¢ @d=c
d pl=yg e 3=27% f L=13"
2 Express in index notation
a log,8=3 b logg36=2 ¢ log,b=c¢
d log,ct=e e log, 8= f g=1log 3
3 Evaluate
a log, 128 b log,, 1000 c log,p*
I
d log, 16 e log,?2 f log.—
o2
4 Express in terms of loga. logh and log ¢
2 4 5
a Iagﬂh b logVab ¢ log ;_j d loga®hic?
¢ s
5 Express each of these as a single logarithm.
a log(a’h) —log(h*a) b llogx+3logy
¢ log5+2logl0—3log2 d alogx +alogx’
6 Simplify
a lg75+2lg2-1g3 b 1z 1000000 c +logHd
log 16 log 5
d 5log3—log§l PRE f —
- He log2 log 125
7 Solve these.
a log,,(n*—90n) =3 b 9% =273 c 3'=4
d 55 =25 e 53+l =8 folog, (32 +T)=3
g 5 —6x5"+5=0 h 4%+ —74*)+3=0 i 27 =52 =14
j 2_1.': L — a‘

8 Many phenomena — from stock market prices to census data to heat capacities of
chemicals — obey Benford's Law. This states that for a set of numerical data, the
proportion of numbers starting with the digit D is approximately

1
lﬂg"] (I + E)

a Show that Benford's Law predicts that around 30% of numbers will start with a
1. and around 18% with a 2. What proportion of numbers does the law predict
will start with a 9?7

9

l
b h: g | l+—=) =1L
Sh-::-wtmtn:Iogm( D)



Test yourself

1

10

loge, 4 1s equal to

A 3 B —3 c —16 D 1 E L
43¥ =1 = 40. Correct to 3 significant figures, x is equal to

A 3.67 B 1.22 C 1.10 D 0.73 E 0.64
log;, 18 + 3log;, 2 is equal to

A 1.88 B 1.31 C 1 D 2 E 433
Correct to 2 decimal places, log, 5° is equal to

A 1.16 B 2.58 - C 348 D 0.86 E 2.10
log P ‘ 1s equal to

A Zlogaloghbloge B log(a+3b—2¢) C loga+3logh—2loge
D llogalogh®—loge* E 3Zlogab—2loge

Given that 37! = 6/~!, correct to 3 significant figures, 7 is equal to

A 3.00 B 4.17 C -382 D —-6.52 E 186
log (a + b) 1s equivalent to

A (loga)’ B (loga)(logh) C loga+logh

D loga® E none of these

If 2log, ¢ = r, then

A (qﬁ)z — 7 B p2q g C qp =" ."2 D pr - qz E ¢ I =
If 3% —2(3**1) = 27, then y is equal to
A 2 B +28 Co D 9 E -6

2log 10 4+ log 12 — 2log4 is equal to
A log30 B log75 C log5s2 D log96 E log60



2.- SERIE: LOGARITMOS Y EXPONENCIALES (SOLUCIONES)

1

8

a log,32=>5 b log,, 100 =2
c log,c=b d log,qg=3
e logy3=1 f logst=-1
a 2*=8 b 62=136
c a=b d d¢=¢*
e p' =38 P oet=13
a 7 b 3 c 4
d 4 e & ¥ =3
a loga-2logh —logc
b lloga+$logh
¢ 4loga—2logh—logc
d 2loga+ 3logh+4loge
a Uit B
a 1og(g) b log(v/xy?)
¢ log62.5 d logx¥
a 2 b 6 ¢ log8
d log3 e 4 f 3
a n=—10orn=100
b x:%
c x=1.26
dx=3
e x=10.146
f y=-8oryp=1
g x=06rx=1
h x=0o0r x=—-0.208
o
j x=—2o0orx=1
a 4.6%
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